/Ivid On-Arm Mount

User Guide

1111111111111111




Getting Startead

Tools

Torx 30/25, 20 and 10

R

What's in the box?

Camera Bracket

w Strain Relief

Robot Adapter

Screws

x4

= 5,

M3x6

Cﬁ)m

o
—

X
<
=

M6 x 10
M5 x 8




Install the robot adapter. Check appropriate
documentation for recommended screw type
and torque values.

X 4




3 Nm

M4 x 10

jz

Torx
20

Install the optional strain relief.




M5 x 8
—(D
N

Torx
25 mm

Mounting:

e ° °

o o @ ®
Zivid Two Zivid One+
3 x M5x8 4 x M6x10

Torx 25 Torx 30



Mount the Camera by sliding
the Camera Bracket onto the
rails of the Robot Adapter




Attach cables and guide them through the strain relief..




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7

